40 word Writing Task – Mark scheme
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[16 marks]
Content

Level | Marks | Response

5 9-10 | Afull coverage of the required information. Communication is clear.

4 7.8 A good coverage of the required information. Communication is mostly clear
but perhaps with occasional lapses.

3 56 A reasonable coverage of the required information. Communication is
generally clear but there are likely to be lapses.

2 34 A partial coverage of the required information. Communication is sometimes
clear but there are instances where messages are not conveyed.
A minimal coverage of the required information. Communication is often not

1 1-2 | clear and there may be frequent instances where messages are not

conveyed.

0 0 The content does not meet the standard required for Level 1 at this tier..
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Quality of language

Level | Marks | Response

3 56 Uses a variety of appropriate vocabulary and grammatical structures.
Generally accurate.

2 34 Vocabulary and grammatical structures generally appropriate to the task,
‘with some attempt at variety. More accurate than inaccurate.

1 12 Vocabulary and structures used may be limited, repetitive or inappropriate.
There may be frequent errors.

0 0 The language produced does not meet the standard required for Level 1 at
this tier.





